Global analysis of a delay virus dynamics model with Beddington-DeAngelis incidence rate and CTL immune response

Lisha Liang School of Mathematics and Physics University of Science and Technology Beijing, Beijing, China 13269558953@163.com

Abstract—In this paper, an HIV-1 infection model with Beddington-DeAngelis infection rate and CTL immune response is investaged. We derive the basic reproduction number R_0 for the viral infection model. By constructing suitable Lyapunov functionals and using LaSalle invariant principle for the delay differential equations, we find when $R_0 \leq 1$, the infection-free equilibrium is globally asymptotically stable. And if the CTL immune reproductive number $R_1 \leq 1$, the immune-free equilibrium and the endemic equilibrium are globally asymptotically stable.

Keywords—Beddington-DeAngelis; CTL immune response; Lyapunov functional; LaSalle invariant principle;Global stabiliy

I. INTRODUCTION

In recent years, the dynamics of HIV-1 infection model have been studied due to such models can be helpful in the control of endemic diseases and provide insights into the dynamics of viral load [1-8]. The analysis of these dynamic behaviors may play a significant role in the development of a better understanding of diseases and various drug therapy strategies against them.

A basic viral infection model [9] has been widely used for investigating the dynamics of virus infections, which has the following forms:

$$\begin{cases} \dot{x} = \lambda - dx - \beta xv \\ \dot{y} = \beta xv - ay \\ \dot{v} = ky - uv \end{cases}$$
(1.1)

where susceptible cells x(t) are produced at a constant rate λ , die at a density-dependent rate dx, and become infected with a rate βxv ; infected cells y(t) are produced at a rate βxv and die at a rate ay; free virus particles v(t) are released from infected cells at a rate ky and die at a rate uv.

In reality, Cytotoxic T Lymphocytes (CTL) immune response is universal and necessary to eliminate or control the

Yongmei Su School of Mathematics and Physics University of Science and Technology Beijing, Beijing, China suym71@163.com

disease after the infection. Indeed, it is believed that CTL cells are the main host immune factor that determines virus load [10]. Therefore, the dynamics of virus infection with CTL response has recently drawn much attention of researchers in the related areas [11-16], paper [22] gave the following immune model

$$\begin{cases} \dot{x} = \lambda - dx - \beta vx \\ \dot{y} = \beta vx - ay - pyz \\ \dot{v} = ky - \mu v \\ \dot{z} = cyz - bz \end{cases}$$
(1.2)

where infected cells y(t) are killed at a rate pyz by the CTL immune response and the virus-specific CTL cells proliferated at a rate cyz by contact with infected cells, and die at a rate bz. The variables and other parameters have same biological meanings as in the model (1.1).

Besides the bilinear incidence rate βvx used in model (1.1) and (1.2), the Beddington-DeAngelis functional reasponse

 $\frac{\beta xv}{1+mx+nv}$ was often used for virus infection model [17,18].

Xia Wang [23] and Youde Tao construct the following model:

$$\begin{cases} \dot{x} = \lambda - dx - \frac{\beta xv}{1 + mx + nv} \\ \dot{y} = \frac{\beta xv}{1 + mx + nv} - ay - pyz \\ \dot{v} = ky - uv \\ \dot{z} = cyz - bz \end{cases}$$
(1.3)

where x, y, v, z, have the same biological meanings as in the model (1.2).

Recently, it has been realized that time delay should be taken into consideration [19-21]. Because there may be a lag between the time for target cells to be contacted by the virus particles and the time for the contacted cells to become actively affected. That is, the contacting virions need time to enter cells. Then G. Huang, W. Ma [23] propose the following model:

2014 The 8th International Conference on Systems Biology (ISB) 978-1-4799-7294-4/14/\$31.00 ©2014 IEEE

$$\begin{cases} x'(t) = \lambda - dx(t) - \frac{\beta x(t)v(t)}{1 + ax(t) + bv(t)} \\ y'(t) = e^{-p\tau} \frac{\beta x(t - \tau)v(t - \tau)}{1 + ax(t - \tau) + bv(t - \tau)} - py(t) \quad (1.4) \\ v'(t) = ky(t) - uv(t) \end{cases}$$

where the state variable and constant have same meaning as model (1.3), and τ represents the time delay.

Based on above discussion, we propose the following model:

$$\dot{x}(t) = \lambda - dx(t) - \frac{\beta x(t)v(t)}{1 + mx(t) + nv(t)}$$

$$\dot{y}(t) = e^{-a\tau} \frac{\beta x(t-\tau)v(t-\tau)}{1 + mx(t-\tau) + nv(t-\tau)} - ay(t) - py(t)z(t) \quad (1.5)$$

$$\dot{v}(t) = ky(t) - uv(t)$$

$$\dot{z}(t) = cy(t)z(t) - bz(t)$$

where the state variable and constant have same meaning as model (1.4).

This paper is organized as follows. In Section II, we will give basic reproductive number and two equilibriums. Then we prove that the three equilibriums are globally asymptotically stable in section III. At last, this paper ends with a brief conclusion in Section IV.

II. BASIC REPRODUCTIVE NUMBER AND EQUILIBRIUM

A direct computation shows that the basic reproductive number of model (1.5) is $R_0 = e^{-a\tau}\beta k / au(d+m\lambda)$. It shows there exists an infection-free equilibrium $E_0 = (x_0, 0, 0, 0)$, and $x_0 = \lambda / d$.

If $R_0 > 1$, in the absence of an immune response, there exists an immune-free equilibrium $E_1 = (x_1, y_1, v_1, 0)$, where

$$x_{1} = \frac{aue^{-} + n\lambda k}{k\beta + ndk - aume^{ar}},$$
$$y_{1} = \frac{\lambda k\beta e^{-a\tau}(1 - \frac{1}{R_{0}})}{a(k\beta + ndk - aume^{a\tau})},$$
$$v_{1} = \frac{\lambda k^{2}\beta e^{-a\tau}(1 - \frac{1}{R_{0}})}{au(k\beta + ndk - aume^{a\tau})}.$$

Note that $R_0 > 1$ means $k\beta > aume^{a\tau}$ which can make $x_1 > 0$, so y_1 and v_1 can also be positive with $R_0 > 1$.

As pointed in [24], if we assume that immune responses can potentially develop, the conditions $cy_1 > b$, we introduce an immune response reproduction number

$$R_{1} = \frac{cy_{1}}{b} = \frac{c}{b} \frac{\lambda k \beta e^{-a\tau} - \lambda au(d + m\lambda)}{a(k\beta + ndk - aume^{a\tau})}$$

When $R_1 > 1$, there exists an endemic equilibrium $E_2 = (x_2, y_2, v_2, z_2)$, where

$$x_{2} = \frac{\delta + \sqrt{\delta^{2} + 4dmuc\lambda kb(n+1)}}{2mduc},$$
$$(\delta = m\lambda uc - \beta kb - duc - dnkb)$$

2

$$y_2 = \frac{b}{c}, \qquad v_2 = \frac{kb}{uc}, \qquad z_2 = \frac{e^{-at}c(\lambda - dx_2) - ab}{pb}.$$

$$z_2 = \frac{e^{-a\tau}c(\lambda - dx_2) - ab}{pb} > 0 \text{ is equivalent to } e^{-a\tau}c(\lambda - dx_2) - ab$$

>0 which can be proved by $c(\lambda k \beta e^{-a\tau} - \lambda a u (d + m\lambda)) >$ $b(a(k\beta + ndk - aume^{a\tau}))$ that is $R_1 > 1$.

III. STABILITY OF EQUILIBRIUMS

Theorem 3.1. If $R_0 \le 1$, the infection-free equilibrium point E_0 is global asymptotically stable for any delay $\tau \ge 0$.

Proof. Choosing Lyapunov function $W_0(t)$ as follows

$$W_{0}(t) = \frac{1}{1 + mx_{0}} [x(t) - x_{0} - x_{0} \ln \frac{x(t)}{x_{0}}] + e^{a\tau} y(t) + e^{a\tau} \frac{a}{k} v(t)$$
$$+ e^{a\tau} \frac{p}{c} z(t) + \int_{0}^{\tau} \frac{\beta x(t-\theta)v(t-\theta)}{1 + mx(t-\theta) + nv(t-\theta)} d\theta$$

where $x_0 = \lambda / d$. We calculating the derivative of $W_0(t)$ along the positive solutions of the system (1.5), and note that $\lambda = dx_0$, we obtain

$$\begin{split} \dot{W_0}(t) &= \frac{1}{1+mx_0} [1 - \frac{x_0}{x(t)}] \dot{x}(t) + e^{a\tau} \dot{y}(t) + e^{a\tau} \frac{a}{k} \dot{v}(t) + e^{a\tau} \frac{p}{c} \dot{z}(t) \\ &+ \frac{\beta x(t)v(t)}{1+mx(t)+nv(t)} - \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} \\ &= \frac{1}{1+mx_0} [1 - \frac{x_0}{x(t)}] (\lambda - dx(t) - \frac{\beta x(t)v(t)}{1+mx(t)+nv(t)}] \\ &+ e^{a\tau} (e^{-a\tau} \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} - ay(t) - py(t)z(t)) \\ &+ e^{a\tau} \frac{a}{k} [ky(t) - uv(t)] + e^{a\tau} \frac{p}{c} [cy(t)z(t) - bz(t)] \\ &+ \frac{\beta x(t)v(t)}{1+mx(t)+nv(t)} - \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} \end{split}$$

2014 The 8th International Conference on Systems Biology (ISB) 978-1-4799-7294-4/14/\$31.00 ©2014 IEEE

$$= -\frac{d(x_0 - x(t))^2}{x(t)(1 + mx_0)} + \left[-\frac{\beta x(t)v(t)}{(1 + mx_0)(1 + mx(t) + nv(t))} + \frac{1}{1 + mx_0}\frac{\beta x_0v(t)}{1 + mx(t) + nv(t)} + \frac{\beta x(t)v(t)}{1 + mx(t) + nv(t)}\right]$$
$$-e^{ar}\frac{au}{k}v(t) - e^{ar}\frac{pb}{c}z(t)$$
$$= -\frac{d(x_0 - x(t))^2}{x(t)(1 + mx_0)} + \frac{1 + mx(t)}{1 + mx_0}\frac{\beta x_0v(t)}{1 + mx(t) + nv(t)}.$$
$$-e^{ar}\frac{au}{k}v(t) - e^{ar}\frac{pb}{c}z(t)$$
$$\leq -\frac{d(x_0 - x(t))^2}{x(t)(1 + mx_0)} + \frac{\beta x_0v(t)}{1 + mx_0} - e^{ar}\frac{au}{k}v(t) - e^{ar}\frac{pb}{c}z(t)$$
$$= -\frac{d(x_0 - x(t))^2}{x(t)(1 + mx_0)} + e^{ar}\frac{au}{k}(R_0 - 1)v(t) - e^{ar}\frac{pb}{c}z(t)$$

Obviously, when $R_0 < 1$, we have $\dot{W}_0(x, y, z, v) \le 0$ for all x, y, z, v > 0. Therefore, the infection-free equilibrium E_0 is stable. $\dot{W}_0(x, y, z, v) = 0$ if and only if $x = x_0, z = 0$ v = 0. Let M be the largest invariant set of $\{(x, y, z, v) \in R_+^4 : \dot{W}_0 = 0\}$, then from the second equation of (1.5), we obtain y = 0, which shows $M = \{E_0\}$, so we get the global asymptotical stability of E_0 by LaSalle invariance principle. If $R_0 = 1$, we obtain $\dot{W}_0(x, y, z, v) = 0$ if and only if $x = x_0, z = 0$, Let M be the largest invariant set of $\{(x, y, z, v) \in R_+^4 : \dot{W}_0 = 0\}$, then from the second and third equations, we obtain y = v = 0, so by LaSelle invariance principle, we can know $R_0 = 1$ can also ensure the globally asymptotical stability of E_0 .

Theorem 3.2. If $R_1 \le 1$, the immune-free equilibrium point E_1 is global asymptotically stable.

Proof. Define a Lyapunov function W_1 as follows

$$W_{1}(t) = e^{-at} [x(t) - x_{1} - \int_{x_{1}}^{x(t)} \frac{1 + m\theta + nv_{1}}{1 + mx_{1} + nv_{1}} \frac{x_{1}}{\theta} d\theta] + [y(t) - y_{1} - y_{1} \ln \frac{y(t)}{y_{1}}]$$

+ $\frac{a}{k} [v(t) - v_{1} - v_{1} \ln \frac{v(t)}{v_{1}}] + \frac{p}{c} z(t)$
+ $ay_{1} \int_{0}^{t} g(\frac{e^{-at} \beta x(t - \theta)v(t - \theta)}{ay_{1}(1 + mx(t - \theta) + nv(t - \theta))}) d\theta$

where $g(x) = x - 1 - \ln x$. We calculating the derivative of W_1 along the positive solutions of the system (1.5).

$$\dot{W}_{1}(t) = e^{-a\tau} [\dot{x}(t) - \frac{1 + mx(t) + nv_{1}}{1 + mx_{1} + nv_{1}} \frac{x_{1}}{x(t)} \dot{x}(t)] + [\dot{y}(t) - \frac{y_{1}}{y} \dot{y}(t)] + \frac{a}{k} [\dot{v}(t) - \frac{v_{1}}{v} \dot{v}(t)] + \frac{p}{c} \dot{z}(t) + e^{-a\tau} \frac{\beta x(t)v(t)}{1 + mx(t) + nv(t)}$$

$$-e^{-a\tau} \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} + ay_1 \ln \frac{x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)}$$

$$\frac{1+mx(t)+v(t)}{x(t)v(t)}$$

$$= e^{-a\tau} [1 - \frac{1+mx(t)+nv_1}{1+mx_1+nv_1} \frac{x_1}{x(t)}] [\lambda - dx(t) - \frac{\beta x(t)v(t)}{1+mx(t)+nv(t)}]$$

$$+ (1 - \frac{y_1}{y}) [e^{-a\tau} \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} - ay(t) - py(t)z(t)]$$

$$+ \frac{a}{k} (1 - \frac{v_1}{v}) [ky(t) - uv(t)] + \frac{p}{c} [cy(t)z(t) - bz(t)]$$

$$+ e^{-a\tau} \frac{\beta x(t)v(t)}{1+mx(t)+nv(t)} - e^{-a\tau} \frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)}$$

$$+ ay_1 \ln \frac{x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} \frac{1+mx(t)+nv(t)}{x(t)v(t)}$$

Note that

$$\begin{split} \lambda &= dx_{1} + e^{at} ay_{1} \\ &= \frac{\beta x_{1} v_{1}}{1 + mx_{1} + nv_{1}} = e^{at} ay_{1} \\ &= \frac{y_{1}}{k} \\ &= \frac{y_{1}}{v_{1}} \\ \dot{w}_{1}(t) &= -\frac{de^{-at} (x(t) - x_{1})^{2} (1 + nv_{1})}{x(t)(1 + mx_{1} + nv_{1})} \\ &+ ay_{1} \ln \frac{x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} \frac{1 + mx(t) + nv(t)}{x(t)v(t)} \\ &+ ay_{1} [3 - \frac{x_{1}}{x(t)} \frac{1 + mx(t) + nv_{1}}{1 + mx_{1} + nv_{1}} - \frac{y_{1}}{y(t)} \frac{x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} \\ &= \frac{1 + mx_{1} + nv_{1}}{x_{1}v_{1}} - \frac{v_{1}}{v(t)} \frac{y(t)}{y_{1}}] + ay_{1} [-\frac{v(t)}{v_{1}} + \frac{v(t)}{v_{1}} \frac{1 + mx(t) + nv_{1}}{1 + mx(t) + nv(t)}] \\ &+ pz(t)(y_{1} - \frac{b}{c}) \\ &= -\frac{de^{-at} (x(t) - x_{1})^{2} (1 + nv_{1})}{x(t)(1 + mx_{1} + nv_{1})} - ay_{1} [\frac{x_{1}}{x(t)} \frac{1 + mx(t) + nv_{1}}{1 + mx(t - \tau) + nv(t - \tau)} \frac{1 + mx_{1} + nv_{1}}{x_{1}v_{1}} - 1 \\ &- \ln \frac{x_{1}}{x(t)} \frac{1 + mx(t) + nv_{1}}{1 + mx_{1} + nv_{1}}] - ay_{1} (\frac{y_{1}}{y(t)} \frac{x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} \frac{1 + mx_{1} + nv_{1}}{x_{1}v_{1}} - 1 \\ &- \ln \frac{v_{1}}{y(t)} \frac{y(t)}{1 + mx(t - \tau) + nv(t - \tau)} \frac{1 + mx_{1} + nv_{1}}{x_{1}v_{1}}] - ay_{1} [\frac{v_{1}}{y(t)} \frac{y(t)}{y_{1}} - 1 \\ &- \ln \frac{v_{1}}{v(t)} \frac{y(t)}{y_{1}}] - ay_{1} [\frac{1 + mx(t) + nv(t)}{1 + mx(t) + nv_{1}} - 1 - \ln \frac{1 + mx(t) + nv(t)}{1 + mx(t) + nv_{1}}] \\ &+ ay_{1} [-1 - \frac{v(t)}{v_{1}} + \frac{v(t)}{v_{1}} \frac{1 + mx(t) + nv_{1}}{1 + mx(t) + nv(t)} + \frac{1 + mx(t) + nv(t)}{1 + mx(t) + nv_{1}}] \\ &+ pz(t)(y_{1} - \frac{b}{c}) \end{split}$$

2014 The 8th International Conference on Systems Biology (ISB) 978-1-4799-7294-4/14/\$31.00 ©2014 IEEE

$$= -\frac{de^{-a\tau}(x(t) - x_1)^2(1 + nv_1)}{x(t)(1 + mx_1 + nv_1)} - ay_1g(\frac{x_1}{x(t)}\frac{1 + mx(t) + nv_1}{1 + mx_1 + nv_1})$$

$$-ay_1g(\frac{y_1}{y(t)}\frac{x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)}\frac{1 + mx_1 + nv_1}{x_1v_1})$$

$$-ay_1g(\frac{v_1}{v(t)}\frac{y(t)}{y_1}) - ay_1g(\frac{1 + mx(t) + nv(t)}{1 + mx(t) + nv_1})$$

$$-\frac{n(1 + mx(t))(v(t) - v_1)^2}{v_1(1 + mx(t) + nv_1)(1 + mx(t) + nv(t))} + pz(t)\frac{b}{c}(R_1 - 1)$$

Since $g(x) \ge 0$ for all $x \ge 0$, if $R_1 < 1$, then $\dot{W}_1(x, y, v, z) \le 0$. And $\dot{W}_1(x, y, v, z) = 0$ if and only if $x = x_1, y = y_1, v = v_1, z = 0$, so E_1 is globally asymptotically stable. When $R_1 = 1$, we have $\dot{W}_1(x, y, v, z) = 0$ if and only if $x = x_1, y = y_1, v = v_1$, from the second equation of (1.5), it is easy to know the largest invariant set of $\{(x, y, z, v) \in R_+^4 : \dot{W}_1 = 0\}$ is E_1 , so by LaSelle invariance principle, we can know $R_1 = 1$ can also ensure the globally asymptotical stability of E_1 .

Theorem 3.3. The endemic equilibrium point E_2 is global asymptotically stable.

Proof. We construct a Lyapunov function as follows

$$W_{2}(t) = e^{-at} [x(t) - x_{2} - \int_{x_{2}}^{x(t)} \frac{1 + m\theta + nv_{2}}{1 + mx_{2} + nv_{2}} \frac{x_{2}}{\theta} d\theta] + [y(t) - y_{2} - y_{2} \ln \frac{y(t)}{y_{2}}]$$

+ $\frac{a + pz_{2}}{k} [v(t) - v_{2} - v_{2} \ln \frac{v(t)}{v_{2}}] + \frac{p}{c} [z(t) - z_{2} - z_{2} \ln \frac{z(t)}{z_{2}}]$
+ $(ay_{2} + py_{2}z_{2}) \int_{0}^{t} g(\frac{e^{-at}\beta x(t - \theta)v(t - \theta)}{(ay_{2} + py_{2}z_{2})(1 + mx(t - \theta) + nv(t - \theta))}) d\theta$

where $g(x) = x - 1 - \ln x, x > 0$. By calculating the derivative of $W_2(x, y, v, z)$ along the positive solutions of the system (1.5)

$$\begin{split} \dot{W}_{2}(t) &= e^{-a\tau} [\dot{x}(t) - \frac{1 + mx(t) + nv_{2}}{1 + mx_{2} + nv_{2}} \frac{x_{2}}{x(t)} \dot{x}(t)] + [\dot{y}(t) - \frac{y_{2}}{y} \dot{y}(t)] \\ &+ \frac{a + pz_{2}}{k} [\dot{v}(t) - \frac{v_{2}}{v} \dot{v}(t)] + \frac{p}{c} [\dot{z}(t) - \frac{z_{2}}{z(t)} \dot{z}(t)] \\ &+ e^{-a\tau} \frac{\beta x(t)v(t)}{1 + mx(t) + nv(t)} - e^{-a\tau} \frac{\beta x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} \\ &+ (ay_{2} + py_{2}z_{2}) \ln \frac{x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} \frac{1 + mx(t) + nv(t)}{x(t)v(t)} \\ &= e^{-a\tau} [1 - \frac{1 + mx(t) + nv_{2}}{1 + mx_{2} + nv_{2}} \frac{x_{2}}{x(t)}] [\lambda - dx(t) - \frac{\beta x(t)v(t)}{1 + mx(t) + nv(t)}] \\ &+ (1 - \frac{y_{2}}{y(t)}) [e^{-a\tau} \frac{\beta x(t - \tau)v(t - \tau)}{1 + mx(t - \tau) + nv(t - \tau)} - ay - py(t)z(t)] \\ &+ \frac{a + pz_{2}}{k} (1 - \frac{v_{2}}{v(t)}) [ky(t) - uv(t)] \\ &+ \frac{p}{c} (1 - \frac{z_{2}}{z(t)}] [cy(t)z(t) - bz(t)] \end{split}$$

$$+e^{-a\tau}\frac{\beta x(t)v(t)}{1+mx(t)+nv(t)} - e^{-a\tau}\frac{\beta x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)} + (ay_{2}+py_{2}z_{2})\ln\frac{x(t-\tau)v(t-\tau)}{1+mx(t-\tau)+nv(t-\tau)}\frac{1+mx(t)+nv(t)}{x(t)v(t)}$$

Note that,

$$\begin{split} \lambda &= dx_2 + e^{ar}(ay_2 + py_2z_2) \\ &= \frac{\beta x_2 y_2}{1 + mx_2 + my_2} = e^{ar}(ay_2 + py_2z_2) \\ &= \frac{\beta x_2}{y_2} \\ &= \frac{y_2}{y_2} \\ &= \frac{y_2}{y_1(1 + mx_2 + ny_2)} + (ay_2 + py_2z_2)[3 - \frac{1 + mx(1) + my_2}{1 + mx_2 + ny_2} \\ &= \frac{y_2}{y_1(1 + mx_2(1 + ny_2))} \\ &= \frac{y_2}{y_1(1 + mx_2(1 + ny_2))} \\ &= \frac{y_2}{y_1(1 + mx_2)} \\ &= \frac{y_2}{y_1(1 + mx_2)} \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ &= \frac{y_2}{y_2(1 + mx_2)} \\ \\ \\ &= \frac{y_2}{y_2(1 + mx_2)} \\$$

Since $g(x) \ge 0$ for all x > 0, we have that $\dot{W}_2(x, y, z, v) \le 0$ for all x, y, z, v > 0. Therefore, the endemic equilibrium E_2 is stable. $\dot{W}_2(x, y, v, z) = 0$ if and only if

2014 The 8th International Conference on Systems Biology (ISB) 978-1-4799-7294-4/14/\$31.00 ©2014 IEEE

 $x = x_2, y = y_2, v = v_2$. Let M be the largest invariant set of $\{(x, y, z, v) \in \mathbb{R}^4_+ : \dot{W}_2 = 0\}$, then from the forth equation of (1.5), we obtain $z = z_2$, by LaSelle invariance principle, the endemic equilibrium E_2 is also globally asymptotically stable.

IV CONCLUSIONS

In this paper, based on Beddington-DeAngelis infection rate and CTL immune response, we have discussed a virus infection model with time delay. The stable analysis of the given model is carried out. While $R_0 \le 1$, the infection-free equilibrium E_0 is globally asymptotically stable for any $\tau \ge 0$. By constructing suitable Lyapunov function and using LaSalle invariance principle, we have that when $R_1 \le 1$, the immunefree equilibrium E_1 is also globally asymptotically stable, when $R_1 > 1$, we also prove the global stability of the endemic equilibrium E_2 .

ACKNOWLEDGMENT

We would like to thank the support of National Natural Science Foundation of China and the Fundamental Research Funds for the Central Universities.

REFERENCES

- Perelson, A., Nelson, P.: Mathematical models of HIV dynamics in vivo. SIAM Rev. (1999) 41,pp.3-44.
- [2] Perelson, A., Neumann, A., Markowitz, M., Leonard, J., Ho, D.: HIV-1 dynamics in vivo: virion clearance rate, infected cells life-span, and viral generation time. Science 271(1996),pp.1582-1586.
- [3] Nowak MA, Bangham CRM. Population dynamics of immune response to persistent viruses. Science 272(1996),pp.74-79.
- [4] Canabarro AA, Gleria IM, Lyra ML. Periodic solutions and chaos in a non-linear model for the delayed cellular immune response. Physica A 342(2004),pp.234-241.
- [5] Zhu H, Zou X. Impact of delays in cell infection and virus production on HIV-1 dynamics. Math Med Biol 25(2008),pp.99-112.
- [6] Li Michael Y, Shu H. Global dynamics of a mathematical model for HTLV-1 infection of CD4 T cells with delayed CTL response. Nonliear Anal Real World Appl 13(2012),pp.1080-1092.

- [7] Shi X, Zhou X, Song X. Dynamical behavior of a delay virus dynamics model with CTL immune response. Nonlinear Anal Real World Appl 11(2010),pp.1795-1809.
- [8] Song X, Wang S, Zhou X. Stability and Hopf bifurcation for a viral infection model with delayed non-lytic immune response. J Appl Math Comput33(2010),pp.251-265.
- [9] Nowak MA, May RM. Virus Dynamics. New York:Oxford University Press:2000.
- [10] Arnaout, R., Nowak, M., Wodarz, D.: HIV-1 dynamics revisited: biphasic decay by cytotoxic lymphocyte killing Pro. R. Soc. Lond. B265(2000),pp.1347-1354.
- [11] Culshaw, R.V., Ruan, S.G., Spiteri, R.J.:Optimal HIV treatment by maximising immune response. J. Math. Biol. 48(2004),pp.545-562.
- [12] Wang, K.F., Wang, W.D., Liu, X.N.: Global stability in a viral infection model with lytic and nonlytic immune response. Comput. Math. Appl.51(2006),pp.1593-1610.
- [13] Huang, G., Ma, W.B., Takeuchi, Y.: Global properties for virus dynamics model with Beddington-DeAngelis functional response. Appl. Math. Lett.22(2009),pp.1690-1693.
- [14] Zhou, X.Y., Shi, X.Y., Zhang, Z.H., Song, X.Y.: Dynamical behavior of a virus dynamics model with CTL immune response. Appl. Math. Comput.213(2009),pp.329-347.
- [15] Yuan Z, Ma J, Tang X. Global stability of a delayed HIV infection model with nonlinear incidence rate. Nonlinear Dyn 68(2012),pp.207-214.
- [16] Zhou X, Shi X, Zhang Z, Song X. Dynamical behavior of a virus dynamics model with CTL immune response. Appl Math Comput 213(2009),pp.329-347.
- [17] Beddington, J.R.: Mutual interference between parasites or predators and its effect on searching efficiency. J. Anim. Ecol.44(1975),pp.331-340.
- [18] DeAngelis, D.L., Goldstein, R.A., O Neill, R.V.:A model for trophic interaction. Ecology 56(1975),pp.881-892.
- [19] V. Herz, S. Bonhoeffer, R. Anderson, R.M. May, M.A. Nowak, Viral dynamics in vivo: limitations on estimations on intracellular delay and virus delay, Proc. Natl. Acad. Sci. USA 93(1996), pp.7247-7251.
- [20] P. Nelson, J. Murray, A. Perelson, A model of HIV-1 pathogenesis that includes an intracellular delay, Math. Biosci. 163(2000),pp.201-215.
- [21] P. Nelson, A. Perelson, Mathmatical analysis of delay differential equation models of HIV-1 infection, Math. Biosci.179(2002),pp.73-94.
- [22] Nowak, M.A., May, R.M.: 'Viral dynamics' (Oxford University Press, 2 000).
- [23] Xia Wang, Youde Tao, Xinyu Song, Global stability of a virus dynamics model with Beddington-DeAngelis incidence rate and CTL immune response, Original. 66(2011),pp.825-830.
- [24] Wodarz D. Hepatitis C virus dynamics and pathology: the role of CTL and antibody response. Journal of General Virology.(84)2003,pp.1743-1750.